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Mandatory or Optional : Mandatory
Number of Questions : 52
Number of Questions to be attempted : 52

Section Marks : 52
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897121
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 2549896421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The provides access to all active applications by maintaining a row of open application title boxes.
Options :

1. # title bar

2. % taskbar

3. % Start menu

4. % gtatus bar

Question Number : 1 Question Id : 2549896421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

, o TEAH YA TTZed dia $I U Ui S8 9 I Tfehd TRt &1 T Ue HRdl g
Options :
1. # <Igcd dR

Question Number : 2 Question Id : 2549898416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The serves as a single platform to connect all of the parts of a computer together
Options :

1. ® Serial Port

2. % Parallel Port

3. % CPU

4. ¥ motherboard

Question Number : 2 Question Id : 2549898416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR & FH YT BT T 1Y Sie & oy T Thd TICHhIH & U H S Bl 6
Options :

1. % HRge e

2. % WA U

3. % Hidig (cpu)

4. ARSI

Question Number : 3 Question Id : 2549899311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
must be continually refreshed in order to maintain the data.
Options :
1. ¥ SRAM
2. % ROM
3. % Hard Disk
4. ¥ DRAM

Question Number : 3 Question Id : 2549899311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 P! ST @A & forg & TR R (@A) Bt ATl Bt 8
Options :

1. ¥ SRAM

2. % ROM

3. % g18 f$&p

4. ¥ DRAM

Question Number : 4 Question Id : 25498912004 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The computer language Java was developed by
Options :

1. ¥ IBM

2. % Microsoft

3. ¥ Sun Microsystems

4. % InfoSystems

Question Number : 4 Question Id : 25498912004 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR UV STMAT (Java) BT o g faoRyd fawam T 7|
Options :

1. % 3fsdtTH

2. % HIZHNEITR

3. ¥ G HIShIREH

4. % 3 Reew

Question Number : 5 Question Id : 25498920554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which language do computers use to process data?
Options :

1. # Processing

2. ¥ Kilobyte

3. ¥ Binary

4. % Representational

Question Number : 5 Question Id : 25498920554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HIER I YR F= & o for UToT T ST vl 62

Options :
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1. % ORARH
2. % fprdege
3. ¢ TR
4. % RgSieTd

Question Number : 6 Question Id : 25498920626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who designed the first electronic computer, ENIAC?
Options :

1. ¥ Von-Neumann

2. ¥ Joseph M Jacquard

3. % J Presper Eckert and John W Mauchly

4. ¥ Presper Mauchly only

Question Number : 6 Question Id : 25498920626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ugdl S - HR ENIAC frem fEemga fasar ur

Options :

1. % g :!Ia:[ (Van-Neumann)

2. % SI®% TH. SH1S (Joseph M. Jacquard)

3.+ Of. TR Uadhe 3R S Wtﬁﬁﬁ (J. Presper Eckert and John W Mauchly)
4. % Had IR TG (Presper Mauchly)

Question Number : 7 Question Id : 25498924751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The of the UNIX system is the hub of the operating system.
Options :

1. ¥ kernel

2. ¥ shell

3. ¥ command

4. % file

Question Number : 7 Question Id : 25498924751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gHaq (UNIX) RRea d1 /@t | TR e &1 &% (hub) B
Options :

1. ¥ Fd

2. % Qd

3. % HHS

4. % oIgd

Question Number : 8 Question Id : 25498929730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following types of computer memories is used in applications requiring high speed searching?
Options :
1. ¥ Non-volatile Random Access Memory
2. % Flash Memory
3. % Content Addressable Memory
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4. % Sequentially Addressable Memory

Question Number : 8 Question Id : 25498929730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafafed & @ frg UeR &1 Fegex B &1 IUANT I T ¥ T / Wil B arell Uit o farar sirar g2
Options :

1. % 9 - JeTesd YSH TR™ FER

2. % TR HHRIS

3. ¢ Sc Tgdad HART

4. % TyepfRre Tgdee AHR

Question Number : 9 Question Id : 25498929894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a correct name of 1D Barcode font?
Options :

1. % Corbel

2. % Code 93

3. % Interleaved 2 of 5

4. % CODE 128

Question Number : 9 Question Id : 25498929894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fafafed § ¥ HH-4I, 1D IRDIS BiT HT gl 419 a1 52
Options :

1. ¢ BRI (Corbel)

2. % IS 93 (Code 93)

3. % goeitog 2 AP 5 (Interleaved 2 of 5)

4. % IS 128 (CODE 128)

Question Number : 10 Question Id : 25498929976 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Biometric spoofing confuses the system between the artifact and the real biological target the sensitive data/materials.
Options :

1. # to damage

2. ¥ to convey changes to

3. ¥ to add updates to

4. % to gain access to

Question Number : 10 Question Id : 25498929976 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

mqﬁ?—r{ (Biometric spoofing), HaG-I=ITe ST / At , Rren 1, fauu Rreqaw (enféthae) 3R rfas Sfd®
T F I YT IR IaT R

Options :

1. ¥ DI HUH Uga™ & g

2. % T gfkad™ &) JUftd A & forw
3. % T 3USc SIg+ & forg

4. ¥ TP Ugd (TRIN) U B & g
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Question Number : 11 Question Id : 25498931267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the latest and the fastest component of the motherboard to support add-on cards?
Options :

1. # ISI

2. % PCI

3. ¥ PCI express

4. % AGP

Question Number : 11 Question Id : 25498931267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

US-3{1H HTS P! JUIC B & T AEREIS BT TAHIH 3R Jod ol 9P 570 4 HIF-91 67
Options :

1. % ISI

2. % PCI

3. ¢ PCI TaUY

4. % AGP

Question Number : 12 Question Id : 25498931332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the earliest version of the USB?
Options :

1. ¥ USB 1.1

2. % USB 2.0

3. % USB3.0

4. % USB X

Question Number : 12 Question Id : 25498931332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FafATEd & B T1 USB &1 Ya¥ Ugal T 82
Options :

1.+ USB 1.1

2. % USB2.0

3. % USB3.0

4, % USBX

Question Number : 13 Question Id : 25498933056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which among the following is an application software?
Options :

1. ¥ Windows 10 Home

2. % Red Hat Enterprise Linux

3. ¥ Safari

4. ¥ Catalina

Question Number : 13 Question Id : 25498933056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
fFoferad & ¥ S9-91, U Tiiee ArueddR 82
Options :
1. % fdSIST 10 B9 (Windows 10 Home)
2. %33 %_cr UL IES| INGE (Red Hat Enterprise Linux)
3. ¢ BRI (Safari)
4. ¥ Pl (Catalina)

Question Number : 14 Question Id : 25498933183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In contrast to binary numbers, decimal digits have possible numerals.
Options :

1.¥ 10

2. %100

3.% 20

4. % 16

Question Number : 14 Question Id : 25498933183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I TRamait & fausdtd, aRmed sfwt YU 3i B B
Options :

1.¥ 10

2. % 100

3.% 20

4. % 16

Question Number : 15 Question Id : 25498933938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following screens recognises inputs from the user without using keyboard, mouse or any other input device?
Options :

1. # digital screen

2. % point screen

3. ¥ touch screen

4. % LED Screen

Question Number : 15 Question Id : 25498933938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFafifed o @ o0 wiF S, ey a1 fardt 3 3 Ye fEargy &1 IuanT fr a1 Sudinesdl ¥ fird 399e &1 ugardt 82
Options :

1. % fefored wpiA

2. % WIEC BhIA

3. & TI-HBH

4. % LED %bH

Question Number : 16 Question Id : 2549898179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a method of bypassing the security measures on a network.
Options :
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1. ®* E-mail spoofing
2. % 1P spoofing
3. ® Address spoofing
4. % App spoofing

Question Number : 16 Question Id : 2549898179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
, Yeadh b GR&T AMDI B JUET B BT Ueh RIPT 8|
Options :
1. % S0 Y
2. 1P W
3. % UG it
4. % QU

Question Number : 17 Question Id : 2549899473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
printers are great for businesses and people who need to produce large amounts of text documents.
Options :
1. # Colour laser
2. % Inkjet
3. # Dot matrix
4. % Laser

Question Number : 17 Question Id : 2549899473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e 3 cgum 3R Tl & foTe 98 o B § o Sl A W SR STagie BTUA B TRl gt | |
Options :

1. % PR AR

2. % bolc

3. % Sle Al

4. ¥ AR

Question Number : 18 Question Id : 2549899486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a computer hardware device, much like a printer, that is used for printing vector graphics?
Options :

1. # Fax

2. % Plotter

3. % Scanner

4. % Synthesizer

Question Number : 18 Question Id : 2549899486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3 I P TR FTEIW FSag T fier 3t ovg et § ok o3 ot o1 3107 & forg vgaa gt 32
Options :

1. * By

2. ¥ WIeR

3. % W
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4. % ISR

Question Number : 19 Question Id : 2549899596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PostScript Printer Description (PPD) files are created by:
Options :

1. % users

2. % installers

3. ¥ manufacturers

4. % vendors

Question Number : 19 Question Id : 2549899596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

URef&py flier f8fpw (pPD) Wisd fhge gRT fbue o1 ot 82
Options :

1. % SUARTHATST gRI

2. % SR GRI

3. % fmfargr

4. fasharsti gRI

Question Number : 20 Question Id : 25498910796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
for printers can be purchased from a store or downloaded from the Internet.
Options :
1. ¥ Soft fonts
2. ¥ Hard fonts
3. % Both soft fonts and hard fonts
4. % Resident fonts

Question Number : 20 Question Id : 25498910796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

flrFfor S ERI T AR A SIS fbar o Tahar g
Options :

1. ¢ IR Bicd

2. % BIE BI<H

3. % QIR 3R TS QI iy

4. % TS Wi

Question Number : 21 Question Id : 25498911259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an input device?
Options :

1. # Keyboard

2. % Plotter

3. ¥ Mouse

4. % Light pen
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Question Number : 21 Question Id : 25498911259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0 & 3 o1 o 1P 37Ye fSarma T &2
Options :

1. % Plas

2. ¥ W

3. % H13Y

4. % dZC U

Question Number : 22 Question Id : 25498913405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a compressed video file format?
Options :

1. ¥ PNG

2. ¥ MPEG

3. % GIF

4. % BMP

Question Number : 22 Question Id : 25498913405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A ¥ o 91 T "uifsd fafedl wisa wide g2
Options :

1. ¥ PNG

2. % MPEG

3. % GIF

4. ¥ BMP

Question Number : 23 Question Id : 25498913468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A quantiser at the encoder performs:
Options :

1. # many-to-many mapping

2. ¥ many-to-one mapping

3. ¥ one-to-many mapping

4. % one-to-one mapping

Question Number : 23 Question Id : 25498913468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ThISR 1 BHITCOR T BTH BRIl 82
Options :

1. % BR-g- O Afth

2. ¢ Tfl-g-a Bt

3. % gE-g- B Aft

4. % g-g9 Afth

Question Number : 24 Question Id : 25498918487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which of the following input devices is generally used in banks as there is a large number of cheques to be processed every day?
Options :
1. ¥ MICR
2. % OCR
3. ¥ Bar code reader
4. % OMR

Question Number : 24 Question Id : 25498918487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sl § 9 7 9 P Ul 37YC FSaTsy ST IUAN b STl &, Fiffeh a5t Ufife a1 e # Aob! Pl GIed BT giell 52
Options :

1. ¥ MICR

2. % OCR

3. % IRDIS IS

4. ¥ OMR

Question Number : 25 Question Id : 25498918578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to the internet protocols, what is the full form of TCP?
Options :

1. ¥ Transmission Control Product

2. % Transmission Control Path

3. % Transmission Control Protocol

4. ¥ Transmission Control Procedure

Question Number : 25 Question Id : 25498918578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gee Mieidid & Yeu o, TCp &1 quiey &1 82

Options :

1. ¥ Transmission Control Product @ﬂﬁl’?ﬂ mm)

2. % Transmission Control Path @Tﬂﬁ"ﬂ:{ Eb_@ﬁ EIE))

3. % Transmission Control Protocol @m&m:fﬁath'cﬁﬁa)
4. % Transmission Control Procedure @r’mﬁmﬂ W m)

Question Number : 26 Question Id : 25498920745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following provides protection between the internal network and the internet?
Options :

1. ¥ Proxy server

2. ¥ Router

3. % Switches

4. % Hub

Question Number : 26 Question Id : 25498920745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 & O F1 gexe 3R $exAd Aedd & g YREM UG ol 82
Options :

1. ¢ UiRfy R
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2. % I3IR
3. % {9
4. % B9

Question Number : 27 Question Id : 25498922035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a KRACK attack, the intruder performs the attack  the WPA2 handshake.
Options :

1. * before

2. ¥ during

3. % after

4. % following

Question Number : 27 Question Id : 25498922035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B (KRACK) 31 T, gHSTT 89 BI, WPA2 ESUH ST T 3|
Options :

1. % YUgd

2. HERA

3. % D aG

4. % &R

Question Number : 28 Question Id : 25498924002 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which button is used to increase the display size of the window in a Windows OS?
Options :

1. # Down Size

2. ¥ Minimize

3. % Maximize

4. % Bottom Scroll

Question Number : 28 Question Id : 25498924002 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Windows OS H Windows & f&¥ & Wﬁ@ﬁ%mmﬁ@mﬁﬁmmm%7
Options :

1. % SI3 91gsl

2. % fafaTSS

3.  DfeaTES

4. % gicH TpId

Question Number : 29 Question Id : 25498924178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In case of a process failure, the operating system writes the error report in the:
Options :

1. * object file

2. % new running process

3. ¥ log file

4. % error file
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Question Number : 29 Question Id : 25498924178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

U1 hedR & AHS § SHTIRfeT Red # TR R Rrgar g
Options :

1. % 3ffesiae Br3a

2. % TN

3. ¢ AN B

4, % TR WBIA

Question Number : 30 Question Id : 25498925406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Commercial and industrial customers mainly use phase power.
Options :

1. ¥ three

2. % two

3. % single

4. % four

Question Number : 30 Question Id : 25498925406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I 3R SN Weh Pad: Ul UiaR o1 SUTUNT HRd g |
Options :

1. dF

2. %3

3. % T

4. % IR

Question Number : 31 Question Id : 2549897209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following is NOT a Unicode encoding system to represent characters?
Options :

1. % UTF-8

2. % UTF-16

3. % UTF-32

4. % UTF-48

Question Number : 31 Question Id : 2549897209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

U o1 PRl o) 3 o FERRITd 3 4 1.9 U TS T Reew 7T 2
Options :

1. % UTF-8

2. % UTF-16

3. % UTF-32

4.« UTF-48

Question Number : 32 Question Id : 2549897443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Which option enables you to use a different printer or change the print setting to print a document?
Options :

1. ¥ Print

2. ¥ Quick print

3. * Print preview

4. % Print layout

Question Number : 32 Question Id : 2549897443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

BT faded 3Tuw! T S1erT flieR &1 ITaNT o3 & o a1 #1s Siagie fife s & forg fife AfeT sgam 3 Tam a9ra1 82
Options :

1. ¢ flic (Print)

2. % f@® flic (Quick print)

3. % ﬁfﬁﬁq\(Print preview)

4. % flic dam3e (Print layout)

Question Number : 33 Question Id : 2549897915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is used to pay utility bills using banking services over the internet.
Options :
1. ¥ Internet banking
2. ¥ Rural banking
3. ¥ Urban banking
4. % Local banking

Question Number : 33 Question Id : 2549897915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
BT ITANT SexAe WR o1 Jaraft 1 STaRT FHras IudIfvar (@feferch) faet &1 ywram & & forg faran S g1
Options :
1. ¢ $eAe o
2. % grdtor offds
3. % R o
4. % R dfdsT

Question Number : 34 Question Id : 2549897933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a Toggle key on a computer keyboard?
Options :

1. ¥ caps lock

2. % tab

3. % spacebar

4. % enter

Question Number : 34 Question Id : 2549897933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
5 A @ -, SR BIAS TR TP ehTel BT (Toggle key) 82

Options :
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1. ¥ P dAlb (caps lock)
2. % TF (tab)
3.8 W(spaccbar)
4. % TR (enter)

Question Number : 35 Question Id : 2549899017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a method of electronically exchanging securities (such as stocks and bonds), foreign exchange or financial derivatives.
Options :
1. % Electronic trading
2. # Electronic services
3. # Electronic goods
4. % Electronic products

Question Number : 35 Question Id : 2549899017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
_,Uﬁ@?ﬁ(securities)(@ﬁﬁgﬁyﬁaﬁ?ﬁ%},ﬁm%ﬁﬁmmﬁ?ﬁqmwmwam—mm
&1 U Al 8|

Options :

1. ¥ SR AUR

2. % TAaCiHD Hal

3. % ToaCiHD IHH

4. % gD IS

Question Number : 36 Question Id : 25498910501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Following are the set of steps to turn off the automatic capitalisation feature in MS-Word. Arrange the steps in the correct order.

a) Make sure the AutoCorrect tab is displayed.

b) Choose AutoCorrect Options from the Tools menu. Word displays the AutoCorrect dialog box.
¢) Click on OK.

d) Clear the Capitalize first letter of sentences

Options :

1.¥b,a,d,c
2. % b,a, c,d
3. % b,d,a,c
4. % b,c,d,a

Question Number : 36 Question Id : 25498910501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word H TaTierd Wﬂ@m & BIaR (automatic capitalisation feature) Dl dEHA D forg RO T Ye FHafarad % | RN B
g1 hH H Fayd B

a) ﬂﬁ'@lﬁ P o @ JUR T (AutoCorrect tab) PHRGE]

b) gdl ﬁﬁ[\ﬁ dd: YR (AutoCorrect) fapey ﬂﬁl Word ¥d: YUR (AutoCorrect) HdTG I UaRid Har |
¢) OK WR faae® |

d) Il & UBd Hiucarsy 31&R & fiery

Options :

1.¥b,a,d, c

2. % b,a,c,d

3. % b,d,a,c
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4. % b,c,d, a

Question Number : 37 Question Id : 25498910542 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which margin style gives 0.5 inch empty space on all sides of the page in an MS-Word document?
Options :

1. ¥ Normal

2. % Moderate

3. ¥ Narrow

4. ¥ Mirrored

Question Number : 37 Question Id : 25498910542 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word Sﬁlﬁ[ﬁ? 7 O & gt fFIRI R -3t Jmfei= WA 0.5 59 BT Rad ”IH (empty space) | %?
Options :

1. % 9dd

2. % Al

3.¢ R

4. % RS

Question Number : 38 Question Id : 25498910575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
rulers help you align text, graphics, tables and other elements in your document.
Options :
1. ¥ Horizontal and vertical
2. % Top and bottom
3. # Left and right

4. ¥ Horizontal and right

Question Number : 38 Question Id : 25498910575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

_ ER YD U SiagHC H T, Tithad, dIfcrantaf SR =1 Il ! TxRad PR | HeTdal Il g |
Options :

1. ¢ afaoiy 3R IR (Horizontal and vertical)

2. % XY 3R I (Top and bottom)

3. % T3 3R A3 (Left and right)

4. % Afoolg R 8 (Horizontal and right)

Question Number : 39 Question Id : 25498910598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options is NOT available in the drop down menu of the Special option in Indentation control in the Paragraph tab?
Options :

1. % First line option

2. % Hanging option

3. % Right indent option

4. % none option

Question Number : 39 Question Id : 25498910598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

aq%gm%aﬁgéﬁmﬁﬁam(lndentation control)%ﬁﬁqﬁm(Special option)%ﬁq@ﬁﬁiﬁmﬁﬁﬁq-mﬁmm
9

Options :

1. % B A fadbed

2. % R ey

3. ¥ (3 §8¢ fAeped

4. % D13 Wt faweq g

Question Number : 40 Question Id : 25498910720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What happens when you click the 'more' button in the Find and Replace dialog box of MS-Word 2010?
Options :

1. # It replace all instances of the specified text.

2.+ It gives advanced search options

3. % It finds more instances of the specified text.

4. ¥ Tt expands the Find and Replace dialog box.

Question Number : 40 Question Id : 25498910720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS 319 MS-Word 2010 & BIES 3R @iy (Find and Replace) SIANT SId H 'more’ §¢ TR faad H df 1 T2
Options :

1. % g iy Tae & Tt Iarerul &I wfawifid s g
Z.JWW@W(search)ﬁmaﬂT%l

3. % gg Afdy Tqe & 31 Iererun & @erar B |

4. % g W3S 3R N@Y (Find and Replace) STIANT §1a &1 Thal ¢al g

Question Number : 41 Question Id : 25498911502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a MS-Word document, when you type three asterisks and then press enter key, you get a
Options :

1. ¥ single line

2. # bold single line

3. # double line

4. ¥ heavy dotted line

Question Number : 41 Question Id : 25498911502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
WMS-Word?:}I’aﬂﬁ?ﬁ,WW@?W(asterisks)aqu%&ﬁTWﬁﬁﬁ%,Fﬁm@_ﬁlﬂ?ﬁél
Options :

1. # U oflg

2. % SIS Thel dIg

3. % gRd AT

4.+ At SicS A1gA

Question Number : 42 Question Id : 25498911879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which of the following is NOT an input device?
Options :
1. # Keyboard
2. % Mouse
3. ® Scanner
4. ¥ Printer

Question Number : 42 Question Id : 25498911879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fFrafefed 9 & SH-91, T 37Ye fSarsa 781 82
Options :

1. % Plars

2. % HI3Y

3. % R

4. TR

Question Number : 43 Question Id : 25498911945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the hexadecimal equivalent of (257)¢?
Options :

1. % 16

2. % 61

3. %100

4.+ 101

Question Number : 43 Question Id : 25498911945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(257) 0 T BT SIS AT JHb el T 32
Options :

1. % 16

2. % 61

3. %100

4.4 101

Question Number : 44 Question Id : 25498912489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is true about Header and Footer in a MS-Word document? (Select the most appropriate among the following.)
Options :

1. # Cannot insert tables with columns and rows

2. % Cannot insert pictures, clipart and shapes

3. % Cannot edit the text in the body of the document while you are editing the header or footer

4. ¥ No automatic page numbers

Question Number : 44 Question Id : 25498912489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g/g%ﬂﬁﬂ{ﬁ?ﬁ&ﬂﬁ@@(@@ﬁm%m%aﬁﬁﬁmﬁ@raﬁq—mw% Fafafed ¥ 3 Ted Iuged &1 991
)
Options :
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1. % Piad 3R Ufad arel ead T (insert) Tl HR T&bd |
2. % W,Wmﬁwm(insert)ﬁwml
3. ¥ 99 T fHet Siagrc § g3 I1 e Bl UST BRIB 6, A1 311 SIRGHC Sie! § Cae &1 TfSe gl X Iad |
4. % DIz Wt TWAIferd (3menfe®) O FHHi% 1|

Question Number : 45 Question Id : 25498919194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Directory feature in MS-Word creates document(s) containing a catalogue or printed list of addresses in mail merge.
Options :

1. ¥ asingle

2. % double

3. % triple

4. ¥ many

Question Number : 45 Question Id : 25498919194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word H SRIRGCR] iR B’I@?W%Wﬁaﬂﬁf(mailmerge)ﬁﬁgqaﬂaﬁﬁﬁmﬁ%g@ﬁ?ﬁgl
Options :

1. ¢ R

2. % gdd

3. % feua

4. % 3D

Question Number : 46 Question Id : 25498920651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ctrl + Right Arrow is a keyboard shortcut used to -
Options :

1. % move the cursor one word right

2. ¥ moves the cursor end to the line

3. ¥ moves the cursor end of the document

4. ¥ moves the cursor one Paragraph down

Question Number : 46 Question Id : 25498920651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ctrl+RightAnowwmmgwmwmmmé?
Options :

1. ¢ HIR P TP UG aTg 3R o ST §

2. % HIRPIARA & fd H A T g

3. % IR DI GXATAH b 3fd H o SI1ell &

4. % FHIR P! TH RN e o Sl §

Question Number : 47 Question Id : 25498920667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Using print preview is useful when you want to
Options :

1. % colour the document

2. ¥ save the document

3. % delete the document
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4. % print the document

Question Number : 47 Question Id : 25498920667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fiie teg ) IUENT B IUARR BT § 51d 3 EIRGE]
Options :

1. % SlagHC Bl HAR HAT

2. % STage P A B

3. * SlegHe I fSeiie Bl

4. SIFGHC I e BT

Question Number : 48 Question Id : 25498925298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is/are the shortcut key(s) to open the Open dialog box in Microsoft Project Professional?
Options :

1. % Alt+FI12

2. % Ctrl + F12

3. % Shift+ F12

4. % F12

Question Number : 48 Question Id : 25498925298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Microsoft Project Professional T 3N SN Sio] Wie &b m qiche W ﬁ-?ﬁ %?
Options :

1. % Alt+F12

2. % Ctrl + F12

3. % Shift + F12

4. % FI12

Question Number : 49 Question Id : 25498925340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The page layout affects how content appears and includes the page's , margins and size.
Options :

1. ¥ orientation

2. % breaks

3. # font style

4. % font size

Question Number : 49 Question Id : 25498925340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Uol A3MIT 39 §1d B GHIRIT Bl ¢ b e a1 fears 31§ oiR 398 U &1 TR iR SR i ST g
Options :

1. ¢ 3NfvaewH

2. % §%

3. % i< Wi

4. % Bl I3l
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Question Number : 50 Question Id : 25498925487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How can you save a document in a different format in MS-Word?
Options :

1. * File -> Save only

2. % File -> Save As -> Choose File Type

3. % Shift + S only

4. % Alt+ S only

Question Number : 50 Question Id : 25498925487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word & 31eTTT thTie & STagiic &y 9 fama Srr g2
Options :

1. ® BI3d -> Had I

2. ¢ g ->4d TH->WIga <180 g

3. % Shift + Hdd S

4. % Alt+7had S

Question Number : 51 Question Id : 25498925507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of subscripts that are dropped below the baseline?
Options :

1. # Percentages and fractions

2. % Chemical formulae

3. # Service mark SM and trademark TM

4. % Exponential Equations

Question Number : 51 Question Id : 25498925507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 o @ TafEpy &1 S1H-91 IST6R01 § o STATRT & -1d a1 T 82
Options :

1. % yfaera ofR g (Percentages and fractions)

2. ¥ ARG YA (Chemical formulae)

3. % JaT AT SM 3R TSHTH T™

4. % THRIUMIRISIT THIDBRUT

Question Number : 52 Question Id : 25498933757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is one of the simplest and easiest ways to exchange files between one or more computers on the Internet.
Options :
1. ¥ FTP
2. ¥ SMTP
3. % POP
4. % IMAP

Question Number : 52 Question Id : 25498933757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
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e W S 1 S HHRI & g Bl [AHT B BT JaY TR SR TR ARIDT H

Options :
1. ¥ FTP
2. % SMTP
3. % POP
4. % IMAP

READING COMPREHENSION

Section Id : 2549897081
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897122
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 25498921193 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)

Read the given passage and answer the questions.

Once upon a time, there was a coffee planter in India who wished to clear some forest land for coffee planting. After cutting down all the
trees, the stumps still remained. The planter hired elephants for stump-clearing. The best of all the elephants was MotiGuj and his driver or
mahout was Deesa. Deesa was a foolish drunkard. When he had made much money through the strength of his elephant, he would get
extremely drunk and climb on the elephant’s back. MotiGuj never trampled the life out of Deesa on these occasions. He knew that after
Deesa got off his back, he would embrace his trunk and weep. He would call him his love and give him some liquor which MotiGuj was
very fond of.

MotiGuj and Deesa worked very hard. Deesa sat on MotiGuj’s neck and gave him orders. MotiGuj rooted up the stumps for he owned a
strong trunk and a magnificent pair of tusks. When MotiGuj worked, Deesa kicked him behind the ears and called him the king of
elephants. In the evening, Deesa would mix MotiGuj’s three hundred pounds of greens with a bottle of liquor. He would also have his share
and sing songs between MotiGuj’s legs till it was time to go to bed.

Once a week, Deesa led MotiGuj down to the river. MotiGuj lay on his side in the shallows, while Deesa rubbed him with a coir swab and
a brick. MotiGuj never mistook the pounding blow of the brick or the smack of the coir swab that warned him to get up and turn over on
the other side. Then, Deesa would look at his feet and examine his eyes and turn up the corners of his mighty ears in case of sores. After
inspection, the two would stand up. MotiGuyj, all black and shining, waving a torn tree branch in his trunk and Deesa knotting up his own
long hair. It was a peaceful, well paid life till Deesa felt the desire to drink deep. The little amount of liquor that he got did not satisfy him.

Sub questions

Question Number : 53 Question Id : 25498921194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MotiGuj never felt hurt when Deesa climbed on his back because he knew that Deesa:
Options :

1. * was his master

2. % made him work

3. ¥ loved him

4. ¥ was foolish
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Question Number : 54 Question Id : 25498921195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Given here are some jumbled sentences related to MotiGuj’s bathing process. Identify the option that arranges these sentences in the
correct sequence of steps.

a. Deesa rubbed him with a coir swab and a brick.

b. Then, Motiguyj turned over and Deesa rubbed him on the other side.
¢. MotiGuj lay on his side in shallow water.

d. Then Deesa examined his eyes, feet and ears.

Options :

l.¥cabd
2. % acbd
3.% cbad
4. % abdc

Question Number : 55 Question Id : 25498921196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For rooting up stumps, MotiGuj had to use his:
Options :

1. # trunk only

2. % trunk and tusks

3. ¥ feet and tusks

4. ¥ trunk and feet

Question Number : 56 Question Id : 25498921197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

After a bath, MotiGuj would stand up waving a tree branch in his trunk to indicate his:
Options :

1. ¥ joy

2. % pain

3. # anger

4. % protest

Question Number : 57 Question Id : 25498921198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Deesa and MotiGuj led a peaceful life. This peace was shattered when Deesa:
Options :

1. % kicked MotiGuj behind the ears.

2. % sang songs between MotiGuj’s legs.

3. # climbed on MotiGuj’s back

4. ¥ felt a need to drink heavily.

Question Id : 25498921193 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)

fow T TRy Y U SR ISP SMYR W U F IR S|

TS JHY &1 91d §, HRA W DHIB! IR BT T AT g3 BT UT, S ST Bt $3 YN B YT HR HI! BT ST ST a8 ATl
I gt Ut ol i pie fear dfcb 371 Ga 31l 1t 5 §T A1 39§31 bl IW/TSA o 1ol SRTH Hifeieh A $ BTN Bl U WR
foram | I @ TN BTt T AT AT 4T 3R Y AT ST HETad T A1 T ST 7| ST Uh Sdpth g s U7l o/d I8
BTt & 96 TR Tgd W1 Y9 HHT AT AT o 98 QS IRTS Ui 3R g1t o1 e W ¢ Sran | T Wbt 0R, Hicirer A Fft ot S o1
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g%&g%mﬁq@q&ﬂ@%eﬁmlmwmsﬁiwwwslweGW@ﬁﬂgﬁgﬁﬁFﬂm CSIRCCE]

T STera|
a1 o1 U Bt <ftg 3w T8 B, It sha rifaqef $ik Tqwd Tgdr o1, Fiife 41t I 2R1E F IwewsT yem w78 grar

Sub questions

Question Number : 53 Question Id : 25498921194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T GRT 3O U6 IR g+ IR H AiciiTel gl 781 gial AT, & 39 Ul 4T bt |
Options :

1. % 98 3UD] TP §

2. % 98 IUY HTH FRAMT 3

3. ¢ TEITA TR FRATS

4. % JGITRH T

Question Number : 54 Question Id : 25498921195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3, TS & T8 & Hae H $& SHHayd HU [GU TN &, HarYd $HH aTet f[adhed &1 uga™ |

a. T, TIRTA 1 OTeT 3R 3¢ U 39 JTSar T

b. 3T TTE AT GERT 3R T ST 3R 11 39 3R I 718l
c. HIINTS, IUd U1 H Teh 3R e frell .

d.mmw,eﬂﬁeﬁ@,ﬁﬁsﬁ?maﬁmm|

Options :

l.¥cabd

2. % acbd

3.% cbad

4. % abdc

Question Number : 55 Question Id : 25498921196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

31 I IWISH & fory AT fHaferiRad 7 9§ feobrepT HaiT el U1
Options :

1. % HIdYg

2. Yg 3R g

3. % W R ald

4. % Yg MW

Question Number : 56 Question Id : 25498921197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T8 & d1, HIANTS, 370! TR B & [T TST IHR US B el B fgardm ol

Options :

1. v gt

2. % g9
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3. % T
4. % ORIy

Question Number : 57 Question Id : 25498921198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T SR Aicfirer 1 Sitam wifagut o1 a8 wifa 9@ 8 81 Sl o e |
Options :

1. % AT Bl HHI o Ul AR

2. % AN & R & S ST B T 7l

3. % OIS &t fe R gt

4. D 3D RIS UM BT $31 BIcit

QUANTITATIVE APTITUDE
Section Id : 2549897082
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897123
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 58 Question Id : 25498914323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the approximate value of the question mark (?) in the following expression.

gof 4011.33 + % of 341122 =7

(You are not expected to calculate the exact value)
Options :
1. # 4810
2. % 4980
3.9 4890
4. % 4930

Question Number : 58 Question Id : 25498914323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fofaied sive © usids (2) & ®H W @ W 3H 341 8 H1 918E?
(T T TP T S0 Tal P 81)

5 7
4011.33 D[ §+ 3411.22 D[ E:?

Options :
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| % 4810

5 % 4980
;v 4890

4 % 4930

Question Number : 59 Question Id : 25498928806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A 180 metre long train crosses another 270 metre long train running in the opposite direction in 10.8 seconds. If the speed of the first train
is 60 km/h, what is the speed of the second train in km/h?

Options :
1. % 80
2.9 90
3. % 150
4. % 120

Question Number : 59 Question Id : 25498928806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180 HreT &&r v ¢ gl R & =+ W vs 3 270 Hew 74 &7 F 10.8 FFE F 9N LT T
Tfg wgelr & # 71T 60 kmph 8, & kmph & gl &7 & aify BraeT g

Options :

1. # 80

2.9 90

3. % 150

4. % 120

Question Number : 60 Question Id : 25498928858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What approximate value will come in place of the question mark (?) in the following expression?

(You are not expected to calculate the exact value)

9228.789 — 5021.832 + 1496.989 =?
Options :
1. % 6500
2. % 6000
3. % 6300
4. % 5700

Question Number : 60 Question Id : 25498928858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
frafofta g 7 wo few (2) & Tua W wgelaa 79 F=2r gar Tifee? (et wée AT
AT AL FAT 2)

0228.789 - 5021.832 + 1456.989=7
Options :
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| % 6500

5 % 6000
; % 6300

4 v 5700

Question Number : 61 Question Id : 25498929097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the approximate value of the question marlk (?) in the following expression:

(You are not expected to calculate the exact value)

?7—21.005 = 12.008% of 717.040
Options :
1. ¥ 107
2. % 117
3.% 127
4. % 137

Question Number : 61 Question Id : 25498929097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fufiad oive & usfg (2) & WH R T A 31841 9182
(31T G T ST Tal P 81)

7 —21.005 = 717.040 DI 12.008%
Options :
| v 107

, % 117
3 % 127

4 % 137

Question Number : 62 Question Id : 25498929378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the compound interest on a certain sum for 3 years at 10% per annum, compounded annually, is 3972, then the sum is:
Options :

1. # 11,600

2. % 11,800

3. % 312,000

4. % 312,400

Question Number : 62 Question Id : 25498929378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Ifg 3 aut & T 10% aif¥e X 3R ae wrgfe R Fdr o & =Isgfe sorer T 3972 @ @ TfY
T 22

Options :

| % T 11,600

, % T 11,800
5 » T 12,000

4 % T 12,400

Question Number : 63 Question Id : 25498929661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If sinfB(1 + sinf + sin?@) = 1, then the value of cos® @ — 4 cos* 8 + 8 cos? @ is:
Options :

1. %0

2. %1

3.% 2

4.4

Question Number : 63 Question Id : 25498929661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TfE sinf (1+ sind + sin®@) =1 &, ar
c05°6 — 4c0s5*8 + 8cos?6 T AT FAT BT

Options :
1. 0
% 1
3.0% 2
4. ¢ 4

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549897083
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897124
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Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 64 Question Id : 25498910060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following words, which one will come second if they are arranged as per their order in an English dictionary?
Options :

1. # Delude

2. ¥ Delirium

3. % Defer

4. ¥ Demean

Question Number : 64 Question Id : 25498910060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

faepedl & TR Tee oA T ¥ 1 Afe 377 W) Y SIS eI & STIR qUIiehH H afRYd fham S1Y, df G RIM W B 1 g
SHTET?

Options :

1. # Delude

2. % Delirium

3. # Defer

4. % Demean

Question Number : 65 Question Id : 25498914079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Unscramble the letters in the words given in options, and find the odd one out.
Options :

1. ¥ LAHEW

2. % OCRW

3. ¥ LEEGA

4. % WARPSOR

Question Number : 65 Question Id : 25498914079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

famedl & fau T SrorafRyd 3ieRl & ored SUH A ST f[dded & ugaH &1 |
Options :

1. ¥ LAHEW

2. ¥ OCRW

3. ¥ LEEGA

4. ¥ WARPSOR

Question Number : 66 Question Id : 25498919670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third number in the same way as the second number is related to the first number.

42:56::72:?
Options :

1. % 81

2.% 90

3.% 92
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4. % 100

Question Number : 66 Question Id : 25498919670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 fasred &t Uga Sifore foras &) 112 Tve ds) et 9 33 uaR il § o TR guRt T ug T § Tefed 7

42 :56::72:7?
Options :

1. % 81

2.9 90

3.% 92

4. % 100

Question Number : 67 Question Id : 25498919833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. # Geometry

2. % Algebra

3. ¥ Trigonometry

4. % Mathematics

Question Number : 67 Question Id : 25498919833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

mﬁaﬂwﬁﬁw%%ﬂﬁﬁ?ﬁ?WWﬁﬁw-w%mwﬁﬁw&mﬂa%wa@ﬁﬁwaﬁu@aﬁ
|

Options :

1. % J@RTOrd

2. % SoFTioTd

3. % Beufafa

4.« TOIT

Question Number : 68 Question Id : 25498919834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

mﬁwwmw%ﬁﬂﬁﬁﬁ?mawmﬁw-w%mwﬁw&m'na%wwa{@ﬁﬁwﬁqﬁﬁ
|

Options :

1. % Ui

2. % YA (Greece)

3. % WA

4. BIRAT

Question Number : 68 Question Id : 25498919834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. # Poland

2. % Greece
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3. % Spain
4. ¥ Korea

Question Number : 69 Question Id : 25498927370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the number of triangles in the given figure.

Options :
1. %8

2.% 10
3.912
4. % 14

Question Number : 69 Question Id : 25498927370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

it few g o # s &t e 9 i)

Options :
1. %8
2. %10
3.912
4. % 14

GENERAL AWARENESS
Section Id : 2549897084
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897125
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 70 Question Id : 2549895300 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the other name of Intertropical Front in terms of the global circulation system?
Options :
1. # Inter Transitional Central Zone
2. ¥ Inter Tropical Convergence Zone
3. # Inter Terrestrial Coverage Zone

4. % Inter Transferal Circular Zone

Question Number : 70 Question Id : 2549895300 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ERIER] ﬂﬁm Ren & Tl T, sazjﬁw The (Intertropical Front) T GRT ATH T 27
Options :

[. ® EET glﬁm_"l?f @?T §n_"f (Inter Transitional Central Zone)

2. ¥ 3R ;ﬁﬁw FHaoyg IR (Inter Tropical Convergence Zone)

3. % 3R m A (Inter Terrestrial Coverage Zone)

4, % R E:RTW WT x| (Inter Transferal Circular Zone)

Question Number : 71 Question Id : 2549899684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Five-Year Plans had the objective of ‘Rapid industrialisation with particular emphasis on the development of basic
and heavy industries’?

Options :

1. # First
2. % Second
3. ¥ Third
4. # Fourth

Question Number : 71 Question Id : 2549899684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g deradifa a1 o1 3579, “Haud Td HIS I & faerg IR faRiy oIk <d U afd shefieRur um
Options :

1. ® ugall

2. G

3. % R

4. % 9rf

Question Number : 72 Question Id : 25498912552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Nallamala Range, a range of parallel hills and valleys of the Eastern Ghats, lies in
Options :

1. ¥ Andhra Pradesh

2. % Goa

3. % Kerala

4. ¥ Maharashtra

Question Number : 72 Question Id : 25498912552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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TeeHd 391, gdf UTe &t SHHiR ygieat 3R wifedt @t 9of, ARG
Options :
1. YU
2. % Tar
3. % R
4. % UGRIY

Question Number : 73 Question Id : 25498929955 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which division of the ocean is the extended margin of each continent occupied by relatively shallow seas and gulfs?
Options :

1. #* Continental Slope

2. % Continental Shelf

3. % Deep Sea Plain

4. % Oceanic Deeps

Question Number : 73 Question Id : 25498929955 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TETNR $T -9 fAUTSH, 3UaTdhd IUd Tga! 3R TS §RT SR Udd HeTgid &1 [awaid Ao g2
Options :

1. % HETEIU a1

2. ¥ HRTGIUN b

3. % TEY S BT HAH

4. % UENTRIY 7Td

Question Number : 74 Question Id : 25498936881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Greater Himalayas is otherwise known as:
Options :

1. ¥ Assam Himalayas

2. % Sivalik

3. % Himadri

4. % Sahyadri

Question Number : 74 Question Id : 25498936881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TgH ey (Greater Himalayas) T ¢IRT =TH T %?
Options :

1. % 3rgH fgATerd

2. % fRrarfers

3. ¢ femifa

4. % TRIf%

Question Number : 75 Question Id : 25498937118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The target year for achievement of the United Nations' sustainable development goals is
Options :
1. % 2022
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2. % 2025
3. %2030
4. % 2035

Question Number : 75 Question Id : 25498937118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TG Y & Fad AT & BT Iudisy & oy e au gl

Options :
1. % 2022
2. % 2025
3. %2030
4. % 2035
English Mock
Group Number : 2
Group Id : 2549894495
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
English Mock
Section Id : 2549897085
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897126
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 76 Question Id : 25498940961 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children
have fun during this process as they get to explore new arenas.

Restricted/ Unrestricted : Unrestricted
Paragraph Display : Yes
Keyboard Layout : Inscript
Show Details Panel : Yes
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Show Error Count : Yes

Highlight Correct or Incorrect Words : Yes
Allow Back Space : Yes

Show Back Space Count : Yes

English Actual
Group Number : 3
Group Id : 2549894496
Group Maximum Duration : 15
Group Minimum Duration : 15
Show Attended Group? : No
Edit Attended Group? : No
Break time : 3
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

English Typing Test

Section Id : 2549897086
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897127
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 77 Question Id : 25498938655 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

Communication and human life go hand in hand because human life and social life go hand in hand. Human life is all about
communicating with one another. Talking about things is the best way to let your feelings out or at least this is how it works when
talking about the feelings surrounding the various relationships you have in your life. Imagine that you have a significant other in
your life and you disliked something they said about you to someone else. On one hand you can pretend like it did not bother you.
So you go about as you were but the emotional turmoil will remain in your mind. On the other hand you can communicate to your
significant other about how or what they said bothered you and talk it out with them to clear the air. This is a much better option
than to carry around anger or any other negative emotion. It is okay to be vulnerable and to let out your emotions and feelings
when they become too overwhelming. With every relationship we need to make an effort to communicate well. It is highly
understandable that putting everything you think and feel out there for another person to come and listen can be quite a scary
thing to do. Placing yourself on that pedestal of vulnerability and trusting someone enough to keep your thoughts and feelings safe
in their mind takes a lot of courage. But without communicating there is no possible way for us to enjoy relationships through and
through. Without communicating conflicts and problems will always arise in relationships whether the relationship is with your
family and friends or even people with whom you share your workplace. If people in offices did not communicate so many people
would miss on important meetings and so much work would be left behind because no one was informed to do it. Imagine that
someone cooks something for you but you do not like it. To be nice you tell this person that you love what they cooked and then
they start making it for you very frequently. To prevent hurting someone you love by not telling them that you did not like what
they cooked for you will cause you turmoil and you might just explode one day out of nowhere. This is what happens when you
bottle things up and the metaphorical bottle inside you explodes. It is better to have just communicated the same in the first place
rather than prolonging it to the point that there is more hurt caused by it. Communication is not merely telling someone about
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which food you like and which you do not. A deeper level of communication also requires a person to open up and explain why
they feel certain things and talk about their traumas or the happy incidents in their life. This allows someone to get to know you.
We must all learn how to communicate with one another because life can become very difficult for all of us without
communicating. We are social creatures by creation. We are born into and live in a society and interact with people around us all
the time no matter where we are. Thus it is important to learn what we can now call the art of communication.
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